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Instruction : All questions carry equal marks.

1. Discuss the progress and limitations of Nationalized Bank. 14
OR
(a) Regional Rural Bank
(b) NABARD
2. Explain various deficits shown in the Budget. 14
OR

(a) Deficit financing in India.
(b) Fiscal Responsibility and Budget Management Act.

3. Show the causes of poverty in India and suggest measures to reduce it. 14
OR
Suggest the measures to reduce unemployment in India.

4.  Explain the meaning of Liberalization. Consider the effects of Liberalization on the
Indian economy. 14
OR
(a) Foreign Investment Policy of Government of India.
(b) Industrial Policy of Government of India

5. (a) Choose the correct option : 7
(I)  When was the State Bank of India established ?
(@ 1% July, 1955 (b) 3" July, 1956
(c) 2" July, 1957 (d) 4" July, 1951
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How many factors are there of economic reforms ?

(a) Four (b) Three

(c) Five (d) Two

Which type of budget is prepared during the boom period of economy ?
(a) Deficit (b) Balanced

(¢) Imbalanced (d)  Surplus

In how many divisions the budget is divided ?

(a) Three (b) Two

(¢c) Five (d) Four

When was ICICI established ?

(a) January 1955 (b) January 1956
(c) June 1954 (d) July 1957

What are HDFC and ICICI Banks known as ?
(a) Private Bank (b) Nationalized Bank
(c) Co-operative Bank (d) Foreign Bank

What is the income from interest known as ?
(a) Capital (b) Revenue
(¢)  Uncertain (d) Immoral

Write True or False :

(a)
(b)
(©)
(d
(e)
()
(2

The economic reforms were introduced in 1990.

There are short term lending in the money market.

Punjab National Bank is a private sector bank.

America is a poor country from a relative view point.
SDBI is a Small Industrial Development Bank of India.
Structural unemployment is found in developing countries.

Prime Minister presents the Budget in the Lok Sabha.




